N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F (%] F [%]
s F b 3 [ £
gl()5 3 : 2105 2 g
F <] E Q
F 2 F g
s =1 ke
10°F 1 £
E E =]
F E kel
10°F 10°F
10%F 10%F
i i 10?
10F 10F
1=.- 1=.— -----------
o
g ARG Jestha "ssn%w
24 2
1
0'—25 20 15 10 5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25 0'—“25—20—15—10 —5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
QS 5 : ] © ]
=10 E = =
H 5104 ol o
. E X E
: & = 8107
10* : =
: 10° 1 3
10° : i Eoo :
: 1% T AARREPRLERL ERERRE
10° : 3 E :
: 10 T N AFP P S
10g----1 f """"""""""""""""" 11
1:-- --:1 ------------------------ - 15— 15—""'5' LR A Fl Pl "
OLU:.. M| TSl NS S N | 1 o.uu‘ OLV-.. M| PSS S N | 11
£ N £
o4 o o
it 1+ -t
¥/ 20 <10 0 10 20 30 0¥ 20 -i0 0 10 20 30 0¥/ 20 <10 0 10 20 30 0¥5 20 -i0 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


